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A B (mm)| C (mm)]| D (mm) E F
DO1 1802 360 16 1 11
D02 1802 380 16 1 1[1
D03 368 360 16 1 1[1
D04 368 360 16 1 101
D05 368 340 16 1 1[1
D06 368 340 16 1 11
D20 584 340 16 1 11
D30 378 589 3 2 11
D31 378 600 3 1 11
D40 379 596 16 2 11
DD1 554 303 3 1 111
DS1 596 195 16 1 11
DT1 544 81 16 1 1[1
WQ5 300 96 12 1 11
WQ6 300 96 12 1 1[1

3/15









6/15



92B

000 OO0 N _ 000 @00

ﬁﬁﬁﬁﬁﬁ

~ L=300

71715












13




o
f Ay
w

D30

D30

12/ 15













	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10
	Strona 11
	Strona 12
	Strona 13
	Strona 14
	Strona 15

